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1. Introduction

Below we provide SDP examples for single source multicast topology.
2. Proposal

Proposal to include the SDP examples in the TR 26.9xx v0.9.0.
Table xx1: SSMU multi-stream offer-answer example 1
	
SDP offer/Answer (Alex, Barb, Cloe, and Drake <-> Focus)

	Alex

m=audio 49100 RTP/AVP 100 101
b=AS:152
a=rtpmap:100 AMR-WB/16000/1

a=rtpmap:101 EVS/16000/1

a=fmtp:101 br=13.2; bw=swb;

a=simulcast send 100;101 recv 100;101
m=audio 49200 RTP/AVP 102 103

b=AS:152
a=rtpmap:102 AMR-WB/16000/1

a=rtpmap:103 EVS/16000/1

a=fmtp:103 br=13.2; bw=swb;

a=simulcast recv 102;103
m=audio 49300 RTP/AVP 104 105

b=AS:152

a=rtpmap:104 AMR-WB/16000/1

a=rtpmap:105 EVS/16000/1

a=fmtp:105 br=13.2; bw=swb;

a=simulcast recv 104,105
m=audio 49400 RTP/AVP 106 107
b=AS:152

a=rtpmap:106 AMR-WB/16000/1

a=rtpmap:107 EVS/16000/1

a=fmtp:107 br=13.2; bw=swb;

a=simulcast recv 106,107
...

	Barb

m=audio 49500 RTP/AVP 100 101

b=AS:152

a=rtpmap:100 AMR-WB/16000/1

a=rtpmap:101 EVS/16000/1

a=fmtp:101 br=13.2; bw=swb;

a=simulcast send 100;101 recv 100;101

m=audio 49600 RTP/AVP 102 103

b=AS:152

a=rtpmap:102 AMR-WB/16000/1

a=rtpmap:103 EVS/16000/1

a=fmtp:103 br=13.2; bw=swb;

a=simulcast recv 102;103

m=audio 49700 RTP/AVP 104 105

b=AS:152

a=rtpmap:104 AMR-WB/16000/1

a=rtpmap:105 EVS/16000/1

a=fmtp:105 br=13.2; bw=swb;

a=simulcast recv 104,105

m=audio 49800 RTP/AVP 106 107

b=AS:152

a=rtpmap:106 AMR-WB/16000/1

a=rtpmap:107 EVS/16000/1

a=fmtp:107 br=13.2; bw=swb;

a=simulcast recv 106,107

...

	Answer from Focus to Alex:

m=audio 49100 ...
a=simulcast recv 100;101 send 100;101
m=audio 49200 ...

a=simulcast send 102;103
m=audio 49300 ...

a=simulcast send 104,105

m=audio 49400 ...

a=simulcast send 106,107

...
Answer from Focus to Barb:

m=audio 49500 ...

a=simulcast recv 100;101 send 100;101

m=audio 49600 ...

a=simulcast send 102;103

m=audio 49700 ...

a=simulcast send 104,105

m=audio 49800 ...

a=simulcast send 106,107

...

Answer from Focus to Cloe:

m=audio 48100 ...
a=recv 100 send 100
m=audio 48200 ...

a=send 101
m=audio 48300 ...

a=send 102
m=audio 48400 ...

a=send 103
...

Answer from Focus to Drake:

m=audio 48500 ...

a=recv 100 send 100

m=audio 48600 ...

a=send 101

m=audio 48700 ...

a=send 102
m=audio 48800 ...

a=send 103
...



	Cloe

m=audio 48100 RTP/AVP 100

b=AS:152

a=rtpmap:100 AMR-WB/16000/1

a=send 100 recv 100
m=audio 48200 RTP/AVP 101

b=AS:152

a=rtpmap:101 AMR-WB/16000/1

a=recv 101
m=audio 48300 RTP/AVP 102
b=AS:152

a=rtpmap:102 AMR-WB/16000/1

a=recv 102
m=audio 48400 RTP/AVP 103
b=AS:152

a=rtpmap:103 AMR-WB/16000/1

a=recv 103
...


	Drake

m=audio 48500 RTP/AVP 100

b=AS:152

a=rtpmap:100 AMR-WB/16000/1

a=send 100 recv
m=audio 48600 RTP/AVP 101

b=AS:152

a=rtpmap:101 AMR-WB/16000/1

a=recv 101

m=audio 48700 RTP/AVP 102

b=AS:152

a=rtpmap:102 AMR-WB/16000/1

a=recv 102

m=audio 48800 RTP/AVP 103

b=AS:152

a=rtpmap:103 AMR-WB/16000/1

a=recv 103

...


	


Table xx1 shows an example multi-stream offer/answer in a single source multi-unicast model. Based on the multi-stream offers from UE A-D, the focus would select a mandatory codec and one or more optional codecs. UE-A (Alex) is capable of encoding/decoding speech using both AMR-WB and EVS-SWB. UE-A can simulcast speech data with the mandatory codec and optional codec to the focus. The focus selects the available codec stream (mandatory and optional codec streams) and routes either the mandatory or the optional codec stream to UE B-D based on their capabilities. Similarly, UE-B (Barb) is capable of encoding/decoding speech using both AMR-WB and EVS-SWB. The focus selects the optional and/or mandatory codec stream from UE-A and mandatory codec streams from UE-C and UE-D and sends to UE-B. That is the UE-B could receive both the optional and mandatory codec media for a media type from UE-A. Then UE-B can decide whether to decode the optional media or the mandatory codec stream of UE-A. UE-C (Cloe) and UE-D (Drake) are capable of encoding/decoding speech using only AMR-WB. The focus would send only mandatory codec streams to UE-C and UE-D as shown in Table xx2. Table xx3 shows an offer-answer example when the UE-C joined the conference after UE-A and UE-B offer/answer negotiation with the Focus.
Table xx2: SSMU multi-stream offer-answer example 2

	
SDP offer/Answer (Alex, Barb, Cloe, and Drake <-> Focus)

	Alex

m=audio 49100 RTP/AVP 100 101

b=AS:152

a=rtpmap:100 AMR-WB/16000/1

a=rtpmap:101 EVS/16000/1

a=fmtp:101 br=13.2; bw=swb;

a=simulcast send 100;101 recv 100,101

m=audio 49200 RTP/AVP 102 103

b=AS:152

a=rtpmap:102 AMR-WB/16000/1

a=rtpmap:103 EVS/16000/1

a=fmtp:103 br=13.2; bw=swb;

a=simulcast recv 102,103

m=audio 49300 RTP/AVP 104 105

b=AS:152

a=rtpmap:104 AMR-WB/16000/1

a=rtpmap:105 EVS/16000/1

a=fmtp:105 br=13.2; bw=swb;

a=simulcast recv 104,105

m=audio 49400 RTP/AVP 106 107

b=AS:152

a=rtpmap:106 AMR-WB/16000/1

a=rtpmap:107 EVS/16000/1

a=fmtp:107 br=13.2; bw=swb;

a=simulcast recv 106,107

...


	Barb

m=audio 49500 RTP/AVP 100 101

b=AS:152

a=rtpmap:100 AMR-WB/16000/1

a=rtpmap:101 EVS/16000/1

a=fmtp:101 br=13.2; bw=swb;

a=simulcast send 100;101 recv 100,101

m=audio 49600 RTP/AVP 102 103

b=AS:152

a=rtpmap:102 AMR-WB/16000/1

a=rtpmap:103 EVS/16000/1

a=fmtp:103 br=13.2; bw=swb;

a=simulcast recv 102,103

m=audio 49700 RTP/AVP 104 105

b=AS:152

a=rtpmap:104 AMR-WB/16000/1

a=rtpmap:105 EVS/16000/1

a=fmtp:105 br=13.2; bw=swb;

a=simulcast recv 104,105

m=audio 49800 RTP/AVP 106 107

b=AS:152

a=rtpmap:106 AMR-WB/16000/1

a=rtpmap:107 EVS/16000/1

a=fmtp:107 br=13.2; bw=swb;

a=simulcast recv 106,107

...


	Answer from Focus to Alex:

m=audio 49100 ...

a=simulcast recv 100;101 send 100,101

m=audio 49200 ...

a=simulcast send 102,103

m=audio 49300 ...

a=simulcast send 104,105

m=audio 49400 ...

a=simulcast send 106,107

...

Answer from Focus to Barb:

m=audio 49500 ...

a=simulcast recv 100;101 send 100,101

m=audio 49600 ...

a=simulcast send 102,103

m=audio 49700 ...

a=simulcast send 104,105

m=audio 49800 ...

a=simulcast send 106,107

...

Answer from Focus to Cloe:

m=audio 48100 ...

a=recv 100 send 100

m=audio 48200 ...

a=send 101

m=audio 48300 ...

a=send 102
m=audio 48400 ...

a=send 103
...

Answer from Focus to Drake:

m=audio 48500 ...

a=recv 100 send 100

m=audio 48600 ...

a=send 101

m=audio 48700 ...

a=send 102
m=audio 48800 ...

a=send 103
...



	Cloe

m=audio 48100 RTP/AVP 100

b=AS:152

a=rtpmap:100 AMR-WB/16000/1

a=send 100 recv 100
m=audio 48200 RTP/AVP 101

b=AS:152

a=rtpmap:101 AMR-WB/16000/1

a=recv 101

m=audio 48300 RTP/AVP 102

b=AS:152

a=rtpmap:102 AMR-WB/16000/1

a=recv 102

m=audio 48400 RTP/AVP 103

b=AS:152

a=rtpmap:103 AMR-WB/16000/1

a=recv 103

...


	Drake

m=audio 48500 RTP/AVP 100

b=AS:152

a=rtpmap:100 AMR-WB/16000/1

a=send 100 recv 100
m=audio 48600 RTP/AVP 101

b=AS:152

a=rtpmap:101 AMR-WB/16000/1

a=recv 101

m=audio 48700 RTP/AVP 102

b=AS:152

a=rtpmap:102 AMR-WB/16000/1

a=recv 102

m=audio 48800 RTP/AVP 103

b=AS:152

a=rtpmap:103 AMR-WB/16000/1

a=recv 103

...


	


Table xx3: SSMU multi-stream offer-answer example 3

	Alex-> focus (offer 1a)

m=audio 49100 RTP/AVP 100 101

b=AS:152

a=rtpmap:100 AMR-WB/16000/1

a=rtpmap:101 EVS/16000/1

a=fmtp:101 br=13.2; bw=swb;

a=simulcast send 100;101 recv 100;101

m=audio 49200 RTP/AVP 102 103

b=AS:152

a=rtpmap:102 AMR-WB/16000/1

a=rtpmap:103 EVS/16000/1

a=fmtp:103 br=13.2; bw=swb;

a=simulcast recv 102;103

...

Barb->focus (offer 1b)

m=audio 49500 RTP/AVP 100 101

b=AS:152

a=rtpmap:100 AMR-WB/16000/1

a=rtpmap:101 EVS/16000/1

a=fmtp:101 br=13.2; bw=swb;

a=simulcast send 100;101 recv 100;101

m=audio 49600 RTP/AVP 102 103

b=AS:152

a=rtpmap:102 AMR-WB/16000/1

a=rtpmap:103 EVS/16000/1

a=fmtp:103 br=13.2; bw=swb;

a=simulcast recv 102;103

...


	Answer-1a from Focus to Alex:

m=audio 49100 ...

a=simulcast recv 100;101 send 100;101

m=audio 49200 ...

a=simulcast send 102;103

...

Answer-1b from Focus to Barb:

m=audio 49500 ...

a=simulcast recv 100;101 send 100;101

m=audio 49600 ...

a=simulcast send 102;103

...



	Cloe->focus (offer 1c)

m=audio 48100 RTP/AVP 100

b=AS:152

a=rtpmap:100 AMR-WB/16000/1

a=sendrecv 100

...

	Offer-2a from Focus to Alex:

m=audio 49100 ...

a=simulcast recv 100;101 send 100;101

m=audio 49200 ...

a=simulcast send 102;103

m=audio 49300 ...

a=simulcast send 104

...

Offer-2b from Focus to Barb:

m=audio 49500 ...

a=simulcast recv 100;101 send 100;101

m=audio 49600 ...

a=simulcast send 102;103

m=audio 49700 ...

a=simulcast send 104

...

Answer-1c from Focus to Cloe:

m=audio 48100 ...

a=recv 100 send 100

m=audio 48200 ...

a=send 101

m=audio 48300 ...

a=send 102
...




[image: image1.png]





Page: 1/4


Page: 4/4

